
.

וֹףּ
וֹףּ .



Ṏ ṇ Ḵ

ṇ ︡

ḭ ︡ḭ .
2019 10%צּ אל ḭ Ṅ צּ .

Ṅ ṇ ︡ ︣ לּ ḭ
צּ ךּ פּ .

ḭ
︣ .



ṥ Ṧ
70 ӟᴞד

100 ӟᴞד

150 ӟᴞד

200 ӟᴞד

250 ӟᴞד

300 ӟᴞד

400 ӟᴞד

500 ӟᴞד

600 ӟᴞד

700 ӟᴞד

800 ד

1,000 ӟᴞד

1,200 ӟᴞד

1,500 ӟᴞד

2,000 ӟᴞד

3,000 ӟᴞד

5,000 ӟᴞד

1ᴑדӟᴞ

2ᴑדӟᴞ

͑ᴑדӟᴞ

ểỂ

ỄỂ

ệỂ

ểỂỂ

ểỂỂ

ṇ Ḳ

ṇ ṇ

︡ ךּ .

Å 2001 Ṍ3000
צּ .ךּקּ

Å 1000
.ךּקּ

Å 1000 ḭ
301 400

צּ .ךּקּ

Å

.ךּאל



Ṏ

פּ

Ṏ ṇ ḭ ṇ

Ṏ ︡ ḭ

Ṏ ḭ



ṥ Ṧ

(2009) ṡ ︣ Ṣ

טּ (2009) ︡ḭ ︢ ḱ .



2006 פּ 2019
צּ לּ ︡ פּ ︣ .

ẑ 2006צּ טּ .



ṇ ( )

ṇ ( )

2שּקּ



ṇ ( )

Ḳ ḭ ḭ

Å .ךּ
Å .

Å ḭ ḭ
צּ פּ כֿ .



ךּ ︣ כֿ צּ קּ

ṇ ( )

Ḳ ︡ ︣ .

Ễ טּצּ .
︡ ךּצּ .

ךּ ḭ
פּ .



ṇ ( )

︡

ḭ .
ḭ ︡ .

︣ כֿ צּ קּ .



ṇ Ṏ

InTṬ)Îɻ ṧɼInY

Å 4  ɻ╨ ︡ טּ .
Åֿכ ɼּצ .

ₒTṬ ṎYṬ Ṏɻḭɼ ṇ ṇṦ



ṇ ( )

InTṬ)Îɻ ṧɼInY

ḭ
ḭ .ךּ

ṧ ︡ .

T=t(Y -D)
ₒT= ⁸Y= ⁸t= Ṧ

︡ ךּ Ṩ.ךּ

ₒTṬ ṎYṬ Ṏɻḭɼ ṇ ṇṦ

Ṩ

ṧ

Ḳ T = -D+b ╨ ₒT= ḭY= ḭD= ḭb= Ɽꜝⱷכ♃כṦ



Ḳ (2009)

T = -D+b╨ Ḳ ṇ ( )

ₒTṬ ṎYṬ Ṏb= ṇ ṇṎDṬ Ṧ

Å ︡ צּ טּ .
Å ṇ ṣ ṝ Ṟ( 19 )Ṥ

Ḳ ṡ ︣ Ṣ.ṣ Ṥ.2009.06.10 P8

= -5.39769 0.000082022 

(-2.79980)                      (14.7844)      

= 0.960279

ḱ צּקּ קּ ẓ צּ שּ
ḱ צּקּ ךּאל ẓ צּ שּ
ḱ ṇ ṇּצ ךּקּ .


